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1. There are 46 passengers sitting in a bus.
There are 15 passengers standing in the bus.

How many passengers in the bus?

)
2. There are 57 students already at swimming club.
25 students arrive at swimming club.
How many students are there at swimming club now?
20
3. There are 34 students already at breakfast club.
17 students arrive at breakfast club.
How many students are there at breakfast club now?
S T
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4. There are 28 children in a bus.
There are 25 adults in the bus.

How many people in the bus?

5. Adebola has 63 shells in her suitcase.
She collects 17 more shells from the beach.

How many shells does Adebola have altogether now?

6. Antoni buys a biscuit and a cupcake at a bake sale.
The cost of the biscuit is 27 p
The cost of the cupcake is 48 p

Work out how much he pays for the biscuit and a cupcake altogether.
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